 +++++++++++++++++++++++++++++++++++++++++++++++++++++++++

! Booster basic lattice - MAD input 

ekin    :=      0.40000

erest   :=      0.93828

c       :=      0.29979

etotal  :=      ekin + erest

pc      :=      sqrt(etotal * etotal - erest * erest)

gamma   :=      etotal / erest

beta    :=      sqrt(1 - (1 / (gamma * gamma)))

brho    :=      pc/c

rhod    :=      48.034

rhof    :=      40.847

qsd     :=     -0.0577069

qsf     :=      0.0542195

blength :=      2.889612

angled  :=      blength/rhod

anglef  :=      blength/rhof

ed      :=      angled/2.0

ef      :=      anglef/2.0

space:          drift,l=.50

halfshort:      drift,l=0.6

halflong:       drift,l=3.0

dmagu:        sbend,l=blength,k1=qsd,angle=angled,e1=ed,e2=ed

fmagu:        sbend,l=blength,k1=qsf,angle=anglef,e1=ef,e2=ef

dmagd:        sbend,l=blength,k1=qsd,angle=angled,e1=ed,e2=ed

fmagd:        sbend,l=blength,k1=qsf,angle=anglef,e1=ef,e2=ef

bcel01:       line=(halfshort,fmagu,space,dmagu,halflong,&

                    halflong,dmagd,space,fmagd,halfshort)

bcel:         line=(halfshort,fmagu,space,dmagu,halflong,&

                    halflong,dmagd,space,fmagd,halfshort)

booster:      line=(bcel01,23*bcel)

use,booster

print, range=bcel01

twiss, save

stop

 ++++++++++++++++++++++++++++++++++++++++++++++++++
